e 1T &

S0 6 EERANT I EEER LGN BETE (B2 52)

SR EERNTOHBELFERELBULIFETE (£258) 1. KIKEDD &
ATk A,

(AR THOME)
14 BABRHTEORBEICEARHTAZN 3,852 FHZEML, BARHTED
BEERARH T EN 232,640 FH LT 5,
2 BARHTHOBEDOKEDRKS R PSS L O&MEL CICHIER DR AR H
FHOGEIL, [H1REARETHEME] L5,

SM7H#2H 188 #
F*

t
e R mom =

— 39—



Bl m A ® H F HE M E

® A

-

4 A&

1 —fREHEAE

— 40—




(B4L : FM)

MIERTDHR FHIERR &t
13, 148 3,852 17,000
13, 024 3,852 16, 876
228, 797 3,852 232,649




3 NMER

1 AMEE

el
EE
op
o

—42—




(BAL - FM)

FIERTOHE HIEXE gt
5, 728 3, 852 9, 580
5, 728 3, 852 9, 580
228, 797 3, 852 232, 649

—4 3—




AR H M EFTHEF HENHAMEE

1. ¥
(A) (W47 : FH)
=X WERTOH ERE =t

1 EEA 213, 455 213, 455

2 ERBROFEE 19 19

3 MEIRA 1,323 1,323

4 ‘A& 13,148 3, 852 17, 000

b #Ee 270 270

6 FEIA 582 582
m AN B F 228, 797 3, 852 232, 649

_9*7_




()

P MIERTDEE HIEHE &t
1 BMKEEE 221, 171 221,171
2 EERNE 1 1
3 NEE 5, 728 3,852 9, 580
4 FHEE 1, 897 1, 897
B3 4 g 228, 797 3, 852 232, 649




(BAL : FH)

W E ¥ #H ®#H o M E A

%ll%l

i € %) IR
— PR

ERXHE HIT R L4 7 IR

3, 852

3, 852




2. % A

) 4 WAL
@ 1 —BLHEAL

H B FIERTDEE W I % &t
1 —RSEHEAE 13, 024 3, 852 16, 876
1 —fESEHEAS 13, 024 3, 852 16, 876
4 ‘A& 13,148 3, 852 17, 000
& &t

—100—




(BfL : FM)

i

X

5

gg]:

B

1 —fRSEHRAE

3,852

—fREFHRAE

—101—




wEFTHEREROOMBEAR
MERMOK | M E #| &t ¥ OB M R
— PR
ERXHE | #HFE | MEEMIR
5,728 3,852 9, 580 3, 852
5, 562 3,852 9,414 3,852
I 5,728 3,852 9, 580 3,852
=)




(B - TF)

g&

]

22 EBERFRUEIGIH

3, 852

BRHEERTE

—103—




